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<< qunwijwpmpuGl
wpplpbn whunwlpud gnijph 36,680.0
Qunwiyjupdwl Jupsnipnil
w)fuwwmnwGpltip «Udnipnh YaGupnG»y NNOUY
08. Mtnwwb gnyyph hw)ywniwd,
01 06 01 qnujpugpiw(, nuunidGuuhpmpymGGtph L 35.200.0
qiwhwmiwl w)luvwwnwGpltph A «Munuyuwb gniyph gnijpugpiw L qgGwhwndiwb
hpwljwlwugnid qnpowwnipjnili» NOAUY
<< mmwpuopuhli
Qunwiyjupdw i
Gufuwpupmpul opujhli 93,700.0
wlmbumpjul il
gnuhunk
05.UnmnpunptlGudwjhl gulgh
wywhwwlnd L Qwhwgnpond, gpniGunwhG 93,700.0
ontph dwlwpnuyGph L npulh npnpdwa
04 02 04 w)fuwwmnwGpltip «Utthnpughwy OLL
<< @nipunnbumbunipjuli
Guifuwmupnipjm (0 1,401,148.9
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03. Utputph npuyh uvnnqiwl L yhmwlwb 40,100.0
04 02 01 unpunuwthnpdwpiwG dhongwnnidltp «Utipitiph gnpowlwinipynily NAUY
07. Lnntiph wgpnphthwywd
htimwgnunipjwb L ppphnipjuG 52,560.0
04 02 01 pupdpugdwl dhongunniiGtin «Uqgpnphihwlwl dwnwjnipjini»y NNUY
09. << JunwywpnipjwGl woplptip
nunhlwlnipjul wlwulwpniduljwb 29863 1
JupwGuhGwjhG vwhiwGuwihwyndGhph T << Junwywpnipjwl weplpbp nunhjuGuywé
04 02 01 hpwljwlwugnid ownwjnipjnti
onphppunyuwjub ownwjnipyniGGtp
183.244 8 qjniquunimbunipjul wowlgnipjul vwpquyhG
11. G ymnuiwl funphppuunyuywb o (UUG-tn) L hwlpuwwbnwyub (3-ULY)
04 02 01 ownwjnmpniGGtp YtGwnpnGGtph shongny:
27,410.1 AUy
16,507.5 << G-tnuppniGhph G-UUY
14,319.6 << Swynph Q-UUY
15,615.2 << Upwpwwnh 9-UUY
16,807.8 << Chpwyh &UUY
18,798.4 << UjniGhph ¢UUY
15,812.6 << Lonnmt Q-UUY
15,812.6 << Upwquonwnbh 4UUY
14,817.3 << Unpdwyhph &UUU
13,024.1 << Jwyng 9nph G-UUY
14,319.6 << Ynunuwyph A-UUY
16. Pnijutiph yupwGwhGh L
qninipwlwpnijutiph pntvwuw Ghunwpwiwb
yhdwyh dnGhnnphGgqh, jwpnpuwnnp 89,011.0
thnpdwpllnipniGGph hhdwG Ypw
Juwlfuwnpqbihs L wumnpn)hy «Pnyjutiph yupwGuhGh L pniyjubph
04 02 01 ownwjmpjniGltph hpwlwlwgnud wuw)nuwwlnipjuwl dwnwjnipynil» NAUYH
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17. G nquwnbGuntuwyul YalnuwGhGtph
hhyw GnmpnGGtph jwpnpuwmnnp 217.400.0
whumnpniwG b Yanuwluwlywb owgnid T
nilitignn hnudph L Gyniph thnpdwpGGmpjul «Luwlpuybnuyui wiwuiwpnidwwb
04 02 01 dhongwnnuiltinh hpwjwlwgnid hwidwdwpwwjhl L wumnpnphs YaGunpnGy NOUYG
735,000.0
04 02 02 01.UGnwpywhywlwlywl,ownwjnipniGGtp «wjwlmwny NNAUY
02. UGunmwnwjhl whnwlwb dnGhnnphlgh 53.970.0 «UGunwnwjhl whnwlwb dinGhunphlgh YaGunpnG»
04 02 02 hpwliwlwgnid T nNUY
<< plwuwhyulinipyul 569,361.0
Guwfuwmupnmpin
02. 2nwyhb opjtiyumbtiph L onuyhlG wywqubh
«Cpowlw showywjnh Yypw Gipgnponipjul
05 03 01 wnunnunyuwontpjuwl yhdwlh dinGhunnphlgh 112,028.0
dwnwnipymGtn unGhnnphGgh YaGumpnG» NOUY
04. «Ulwl» wqqujhlG wqunpyh
wwhywlnipjwl, yunpynud ghnwlub
05 04 01 niuntdGuwuhpnipjniGGhnph, 177,350.0 ««Ulwl» wqqujhl yqupy» NOUY
wlnwnpnintuwuwl wyfuwnmwbipltph
Juunwnpiwl ownwjnmpniGGtp
05. «YhihowG» wqquyhG wwpyh
wwhwwlnipjul, yupynd ghnwwb
05 04 01 nuniGwuhpnipjniGGhnh, 76,634.0 ««Hhrhowl» wqquiyhG wupy» NMOUTY
wlnwnpunintuwuwl wfuwnwbipltph
Juunwniwl dwnwynipjnGGtp
08. «lunupnyh wlmwny whnwyuwd
wnpqbingh wwhwwnipjul, wpgbijngnud
05 04 01 qhunwlwG nuntdGuuppntpgmGGtph 77,535.0 ««lonupnyh wlnwny yhnmwlywl wpgbtiing» NOUL
Juunwniwl SwnwynipjnGGtp
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06. «UpghinguuunyuyhG hwdiwihph»
wmGophGmpjwl Ghppn qunGynn ALM
nwpwoplbtph wwhywlmpjub, LM
05 04 01 nwpwopltipnid ghnwlwb 74,096.0 «Upgbhinguwuwplujhl hwdwhpy NMOUL
nuntiGuuhpnipjniGGhnph,
wlnwnmintuwuwl wyfuwnmwbpltph
Juunwnpiwl ownwjmpniGGtp
07. «Chywhnn» whwmwlwb wpgtingh L
«UnuhGtph wnipwlpy wyhnwlwb
05 04 01 wngbjwywynh yuwhywlnipjwb, wpgbtingnid 34,800.0 ««Chywhnn» whnwyuwl wpgting» MOUY
ghnwiwl nuuntiGwuhpmpjniGGtnh
Juunwpiwl ownwjnipniGGtp
07. AGwywhyw Guwlyuwl ninpunh qony
05 06 01 Jupnmowjul-nbintjuunyuiui 16,918.0 «Stntjuwnyuwlub-ytpnowub YaGunpnt» NOUH
ownwjmpniGGtp
<< wpnwlung
hnpwihdwlyGeph 52,344.0
Gujuwmupmpin
04 08 01 01. StfuGhyuywl wijunwlignipjul 52 344.0 «Stjuhyuyul wiyunwlgmpjul wqqujhl
JulnGwyjupqiwl dwnwjnipjmGGtp T YtGunpnl» NNUY
08 SGntuwwl gnponiGtinpyul
04 01 01 wpryniuwytim Jupdwl L wowygiwb < anwgwp P J;]ﬁ 141,000.0 «Qunqugiwl hwjjulwl gnpowlwnipynii» GLL
dhongwnnuiltiph hpwwlwgnud wfuunnuilyug
<< Fyntindhljuigh 944.817.7
Gufuwmupmpni
04 01 o1 [93. UnmbnumnGtph dwydwd 41,000.0  |[«UwnwlnupnGph wqquyhG hGunhnnmmy GRE
ownwjnmpniGGtp
04 01 01 04. QuithmuiGtiph thwuGwljwbnipyud 21,500.0 «Quihwghnmpjuwl wqqujhG hGunhununy OLRR
wwwhnydwl ownwjnipjnilGtp
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04 01 01 11. UpwlgnipyniG ®UQ unipjtiimbtiphG 573,500.0 qupquigiwt waqquhG YhGnpnG» hpdGunpud
03. Qwjwuwnwlp thowqqujhh
04 07 03 swhwhy Gbph6 hwswwywnwufuwGng 158,000.0 CNN L Euronews htinntunwpGytipnipjniGGtn
qrouwpwhl Eplhp» gnijwqnughG
ownwjnipniGltp
01. Quwjwuwmnwbp GepYujwuglnng
04 07 03  [dwdbpwapuiu bhydh Gjupwhwln L 250000  |Buzz Busineess S.L pGlybpnipniG
dhowqquhl htinhGulwynp
htinntunwwihpny htinwpdwynid
07. «Cwlhwj tpuwn 2010»
04 01 01 hwiw; fuwphw)hG gnigwhwntuhG <2 85,817.7 «Qupqugiwl hwjjulwl qnpowumpnii» OLL
dwulwlgnipjuwl opwghnp
12. «UnlnpwwpnyniGupbpuljuwl ywjwwmh
04 01 01 YupnnnipyniGGtph quipguigniiy 40,000.0 «UnlnpuwuwpnyniGwpbpuul yuwpuum»
<< mpwuynmnf b Guwgh 702,933.0
Guifuwpmupmpn
03. UJunndwGwwwphGbph ywhywlnd L «wjwunwlh wynndnphjwjhl dwGwwwphGtnh
04 05 01 223,933.0
whwgnponid wmGophlmpnil»y NAUY
05 06 01 01. <nwhwnnppuygnipjul L juuh 479.000.0 «tnwhwnnppuygnipjul hwGpuwwbtnwlwb
JulnGwliwpqiwl ownwjmpinil U YLGunpnG»y NMOUY
<< puwnupuizhlnipyuli 52,129.0
Gufuwpuwpmpnt
04 08 04 04. ‘vtipypnuiGtp «3-Gugnyugiwi L 57129.0 «QFGwgnyugiwl ypnowluwl hGbnpiwghnb
hGpnpiwghnG YhGupnb» NOUY-nid T YtGunpnG»y NNUY
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<< wpfuunnmuliph L
unghwywlul hupgbph 15,232.0
Guwfuwmupnipini b,
plnuwdbln
2.052.0 «bpphuyny ‘LwGublGh wGJwl Ywlyuwwnmnii» NOTY
3,372.0 «G-wjwnh dwiluwmnilGy NOUY
09.6ptluwGtiph pnipoopjw fulwdph
10 04 UL St 32280 | (dwGwanph swlwnniy MUY
4,428.0 «Gnlwlh «Qunply dwGuwnnily NOUY
2,152.0
«Uwph hqihpywh wijul dwiunm by NOUY
<< wmnwlung
06. UpGninpunwjhG tiplnyypGph ypw wyyunhy [l Gt «UplininpuwjhG tplnypGiph ypw wynhy
04 09 o1 Gtpgnponipjwl dwnwjnipnil lwfuwpwpmpyul 143,586.8 Gtpgnpomipjwl dwnwynpjni» MNTY
ngnponipj Jnipj Swpwumuh yplwpup ngnponipj Jnipj
ownuwympnili
<< uwynpnf b
07 02 02 gig;lnpuu{lhu:ijbi 1;1(312231111??1? hw i bpfumuuupnnipjuG 71.251.7 «Uuynpunuyhl pdoynipjul L hwwnnuhbqujhG
whEguy TPy hwpgbph " huynnnipjul hwipuybnwywb YaGunpna» NOUTY
ownwjmpjniGGtp
Gufuwmupmpin
<< uwynpnf b
bppunuupynpyul 1,392,902.1
hwpgbph
Gufuwmupmpin
01. 4 wnw9GnipynGGtphG L Yhowqquhl
dhonguwnnuiGtphG dwulwlygnipjul
wwwhnydwl hwiwp dwpghyGtph 936,347.0
(wutwywunpwummd b wnwelnipyniGGtph
wlglugnud
19,000.0 {wjwuwnwlh wpikmhyugh $inkipuwghw
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{wjwuwnwbh {wlpwwybnnpjul pwuybtnpnh
18,000.0
ptnbpwghw
{wjwuwmwbh Lwlpwwybnnpjub ppnGgpuiwnunh
115,000.0
ptnbpwghw
{wjwuwnwbh Lwlpwwbnnpjub qinuwuwhph
8,000.0
ptnbpwghw
13,000.0 Jwjwumnwh guhnijuihG uynpunh pinkpughw
236,000.0 Jwjwunwbh pdppudwpunh phnbpughw
17,000.0 Jwjwunwbh pwkpynlnnjh bnbpughw
10,324.0 Jwjjuyul wqqujhl ulnth $inkpughw
9,000.0 {wjwuwmnwbh nnh qu GnipjniG
Jujuyul wonwquuumwwyuwjhl uynpnh
3,000.0
ptnbpwghw
08 01 01 155,000.0 {wjwuwnwbh owlpwiwpump ptinhpughw
18,000.0 {wjwuwnwlh hwinpnh pnbpughw
{wjwuwnwbh Lwlpwwbnnpjul hbowayujhl
12,000.0
uwnpunp pbnbipughw
29,000.0 {Jwjwunwbh hpwagnipniG pinkipughw
71,813.0 Jwjwumnwbh djmgnjh bnbpughw
31,700.0 LJwjwunwlh dwpiGuiwpgnipjul nbpughw
10,000.0 Jwjwunwbh GhnwdgnipiniG pnbpughw
61,240.0 Jwjwunwbh ywhudwmwihG bnbpughw
10,000.0 Jwjwunwbh gpugunyh npughw
18,000.0 Jwjwumnwlh uvwdpngh ptinkipwghw
10,570.0 {wjwunwbh uknuGh ptGhuh $ngbpughw
18,700.0 Unuubpuwiwpunh hwjjuyul btnipughw
12,000.0 {Lwjwunwbh Ynitijpnih bnbpughw
9,500.0 {wjwunwlh yupwwnbh ptinkipughw
10,000.0 Jwjwunwih wjwlnuywG niynith pinkipughw
1,500.0 Jwjjuyul dwjwliwjuwnh $gbpughw
1,500.0 {wjwunwbh punihGpnGh ptntipuwghw
2,500.0 JLwjwunwbh uhGhupnG jnph $nbpughw
5,000.0 {wjwuwmnwbh phppnpuhGgh $tnbpughw
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03. UhowqqujhG dwupquywi
08 01 01 dhongunnuiGtiph hwnpnnGtphG L 50.000.0 «UwnpunuwjhG shongunnuiGtinh juqiwytipuydwb
UpgwlwlywyhpGpnhG ngpudiwyui U YLGunnG» MNUY
dpgwlwyGtinh hwGdlnd
08 01 01 04.{wlpwyppwywb nupngGtph thol 18.910.0 «UwnpunuwjhG shongunnuiGtinh juqiwytpuydwb
Jwpquiul juuntph wighugnid o YtGupnG» NOUY
05.4< dwpgbpnud b LA -md
08 01 01 |hwGpuybnwywt dwpquywt gunwnnGh 6,960.0 «Uunpunwght dhengunnudtnh juqiulbpeydwd
YtGunpnl» NNUY
wlglugnd
06. Gypnuuyh funphpgh Ynnidhg
03 01 01 hpwwwpwiyuwo ghnwitpnpujub 3.000.0 «Uwnpunuwjhl shongunnuiGtinh juqiwytpuydwb
qpuiuinipjul pwpqiwGnipiniG L U YtGupnG» MOUY
wnujwqnpnipjnil
07. vwuwgnpuynswjhG L gnpuynswjhG
03 01 01 wnwphph tphnwuwpnmpjub 6.776.8 «Uwnpunuwjhl shongunnuiGtinh juqiwytipuydwb
hwlpuwybtmwyuwl nwqiudwpqujul o YhGupnG» MNUY
fuwntiph wigliugnid
08 01 01 08.«Lwyuqgntyl dwpquliwl pGunwGhp» 17.500.0 «Uwnpunuwjhl shongunnuiGtinh juqiwytpuydwb
dpgnyph wlghugnd T YtGunpnGy NNUY
03 01 01 09.<wlnnipjuln uvwynpunh Gypnuywywa 2.000.0 «Uwnpunuwjhl shongunnuiGtinh juqiwytpuydwb
fuwnpuhwjh hhdGwhwpgtphG mtntluwgdw(G U YLGunpnG» MNUY
ninnjuo thongunniGtph hpwlwlGwgnid
10. UwGjuwwwunwitliwl uvynpnh
08 01 01 [|dwuuwjwywlwgiwé shyngunnisGtph 8,000.0 «Uunpunwght dhengunnudtnh juqiulbpeydwd
YtlGunpnl» NNUY
hpwljwlwugnid
«Lwjwumnwbh Ynyptph huynpnidy
11w dwinwdwhG G wnd 2,500.0 hw)dwlnuiGtph <4
08 01 01 bu;nﬁini;ﬂ?&?ﬁl; JhG uwnpuipG wnGann 7,000.0 Jwjwuwnwbh wgquyhG wwpoithiwhy Ynihub
7,000.0 «bunytiph hwjuwliw6 vynpuwjihG Yndhnbty {U
3,500.0 «wjjulul hwnny othdwyhwnwGbp» {4
03 01 01 13. UynpuiwjhG dhongunniiGtinh 18.000.0 «Uwnpunuwjhl shongunnuiGtinh juqiwytpuydwb
Juquiwybpynd U YLGunpnG» NMNUY
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14. Qwjwpwlw phitinh wjwq dwnpghsGph
08 01 01 JuipdunnpnipyniG b wphuwphp sktwhnGGtppG 17,265.6 «&< hujwpwwb phutph YaGumpnt» ORC
pnywlh hwnljugnid
17. Gypnwwjh tphunwuwpnnipjw b
08 01 01 |ojhiyhwywé thwnwwnnGGphG 38,960.7 ;ﬁf{i“‘f;;‘iiﬁg‘ﬁgi gmglﬁ?wgiﬁﬁ Undput
dwulwlgnipjul wuyywhnynid I P 9 PJ
19. UMK L dtpdpwpjwb tpypGtph dhol
08 01 01 |wwwnwibyw fuwntpht SwuGwygnipyub 10,000.0  [YwnnuwhG dhengunmuGtph Guquwytpuiub
YtGunpnl» NNUY
wuwwhnynid
08 01 01  |20. 9ynunjh Gypnwwh tphunwuwnnGbph 30,000.0 ag&‘lnpr‘:é‘flﬁgfllgngwnnmﬁhph bwquwytpuiul
wnw9lntpjul juqiwytpyn L wiglhugnid o
«Uwnpunuwjhl shongunnuiGtinh juqiwytpuydwb
08 01 01 21.{wdwhwjjuwlwl fuwntph wighugnd 15,000.0 UkGnpnty MOTG
23. O1hdiyhwywl fuwnbpnud, wpfuwnphp L
Gypnwwjh woweGnipjmGGtpnid pwpdp
03 01 01 wnrynilpGtph hwuwo <L hwjwpwywb 150.000.0 «UwnpunuwjhG shongunnuiGtinh juqiwytpuydwb
phutiph dwpghyGpnhG L Gpuwlg twpghsGaphG U YtGupnG» MOUY
X< VLwhiwquwhh wijuwiuywb pnpuyh
hwnljugnid
08 01 01 24. Pnlgpuiwpunh wpuwphh wuwunwGbwb 34,182.0 «wjwumnuwbh pnGgpuwdiwnpnh pnbpughw» <U
wnw9lnipjuwl yuqiwybpynd L wigljugnd
<< Yppmippwl L gpunmip 28,500.0
Ouwfuwpnuwpnmpint
08 01 01 12. bwywuinnbjwjhG uvwynpuh qupgqugnid 5,500.0 «&< GuywinnbjwjyhG uynpunh dtintipughuy <
15. NFuwGnnuwiwl dwpquub
08 01 01 ShongunnuiGtp 23,000.0 «&< nuwlnquyub twpquyub ptntpughw» <U
<< wnnwphl gnpotpf 49,491.5
Guifuwmupnipini
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05. Upwlgnipjnil omwpbpypjw
08 02 05 whnnipjniGGtpnd hwjwitignt pumbpuywl 20,000.0 ©phthuph M.Unwdjulh wijwl pwunpnd
(pjuwjyuwgnuiGtphG
08. Upwlgnipjnil omwpbplypjw
08 03 02 whmnipyniGGtpnd hwywtiqnt 10,000.0 «dpwunwl» ptipph fjudpwqpnipynil
wuwppbpuwluwlibph hpuwnmwpwldiwln
08 0 05 13.U9wgnipjnil hwy dpwlniyph 19.491.5 JhGhnhyh «wj-hwiwbypnyuwlw b Q)wlynyph
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